EREL. 2FE BFERT>I—MMER

RiEroAEH,ISH)IIORR - FhARETTOIREFE (FH]

BI(1IA) 72
&Y
Hib(20A) 17&
&Y
BRE(GBOAN) 17F
&Y
2NQa7N) 7F
&Y
#ER( 5N 17&

wY

0%  10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
" ERERAR = BRAEMEOLT) -~ BRAE@EZEDRED) = 20k

RiEoBAEMSHIIIORR - FhHARETTOILEFE (4]

CUICEPOREEII G
| | | | | | | |

bl
Bt (20AN) 17&
D)
BRGOA) 7
D)
ZIa7AN) 7
D)
ER( sN) 17&

wY

0%  10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
= BEERAR - BRAE = ZOf




EREL. 2FE BFERT>I—MMER

4 AEDOBE,ISEIIALR - FhHRFITOREFE (FH]

BII(1AN) 17&
bl
BHiL(19AN) 17&
bl
BE(OAN) 7
D)
ZI7A) 7
D)
ER( 5N 17&

&Y

|
0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

= RIRAR = BRAEMEONT) - BRAEGEZFOREH) =20t

4 AEDOBE,ISEIIALR - FhHRITORZEFE (FH]

BII(11IA) 172
bl
BiL@7A) 17&
D)
BR(26AN) 17&
D)
ZlI(14N) 17
D)
ER( 4N) 17

wY

0%  10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
~BRAE = Z0fth




EREL. 2FE BFERT>I—MMER

J RENIAR @FFIABE

IKEY5HE (7] 55A IKESE (BBD] 53A

1.9%

\

m 16:33 = 17:32 = 18:33
m5:30 m6:12 = 7:08 m 19:33 m 21:23 m 22:48

mlsm TE] 7A mlWsmE (BDh]  7A

m 6:46 m16:35 = 18:11 = 19:32 m= 20:35




EREL. 2FE BFERT>I—MMER

J RTlmHAER BEFFIRSHET

IKESHE (1T7E] 16A IKESHE (IRD] 17A
" 6:03 = 6:59 w17:42 ®18:43 =19:43 = 21:37
BWAmE (1T7E] 2A mWsE (BDh] 24

m 6:59 = 18:02 = 20:26




EREL. 2FE BFERT>I—MMER

BREXT—IV)IR (B)IOR~ERMET) FAKR (FH)

BlC 9N) 17&
&Y
BiL(16N) 17&
&Y
BE(22N) 17
&Y
2IIQasN) 7F
&Y
#ER( 5N 17&

wY

0% 10% 20% 30% 40% 50% 60% 70% 80% 90%  100%
KD m FEITES - RGN

BREXI—IVIR (B)IAR~ERMER) FAKR (AE]

BIIC 9N) 17&
&Y
Bit(16N) 17&
=Y
B®E(1AN) 17F
&Y
21 N) 17T
&Y
ER( 5N) 17F

&Y

0%  10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
= RES mFISEDS s DG




EREL. 2FE BFERT>I—MMER

BEFECHTS BOKHS

sxws [
I I I I I

I
I I I I I I

0% 10% 20% 30% 40% 50% 60% 70% 80% 90%  100%

s BERFIERLY o« FTEEIERED

BEFECHTS FEBOREFS

I I I I

I I
I I I I I I

I I I I I

0% 10% 20% 30% 40% 50% 60% 70% 80% 90%  100%

- BEEFLEL « FEFLEN




RFIFE BFRRERT—MMER

G

4 Ah S DEF 5 ETFE

anaas) [

#R( 5AN)

0%

10% 20% 30% 40% 50% 60% 70% 80% 90%  100%

"BHEEF =K «TF =7/\—}

BJI1(14N)

B4t (15A)

BIE(19N)

21114 N)

BFPERROIIE

_-_-
__--
__-l
__-_-
BR( 6L _--_

0%

10%  20%  30%  40%  50%  60%  70%  80%  90%  100%
= XEME 7R «TE =IKE «BRft =« &4




REIFE BFERET>I— MER

\I

G

BEHNSH)IIALR - ToARTTOREFE (FH]

SIMGEYSREEE T EAVTRA]
B ee s
Bt (3AN) 17
=)
B®RE(14N) 17
&Y
ZJI(10N) 17
&Y

ER( 1N) 17
T S
0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

RN R s BRAEMMSEONT) « BRAEGGEZORD) = ZF0fh

BEHNSHIIOLR - THHARTTORZEFE ({4H]

BI(10AN) 17
IRy
Bt (12A) 17&
D)
BRE(12N) 7&
bl
ZIIC 9IN) 17T
&Y
ER( 1N) 172

&Y

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
- HRRAE = Z0fth




REIFE BFERET>I— MER

J RENIAR @FFIABRE

IXEAE (1TE] 39A IFESE [wD] 38A
2.6% 26%_\1%
®5:30 m6:12 = 7:08 m17:32 ®m18:33 = 19:33 m=21:23 = 22:48
=mWAsm (i7&)] 6A swamE [(BD]  6A

m 5:33 m6:46 m18:11 = 19:32




J RTlmHAER BEFFIRSHET

IKEYSHE [7&] 6.5A IEY5E [(J8D] 5.5A

= 6:03 ®6:59 m17:42 w18:43 = 19:43 = fth

mlGmE (TE] 1A mlsmE (D] 1A

® 6:59 m 19:22

10




REIFE BFERET>I— MER

BEFECHTS BOKHS

| | | | | | | | | |
anaan) | -
I I I I I I I I I

I
I I I I I I

I I I I I I

I I I I
I I I I I I I I I I
ER( 4N)

0% 10% 20% 30% 40% 50% 60% 70% 80% 90%  100%

s BERFIERLY o« FTEEIERED

BEFECHTS FEBOREFS

I I I I I I
SENEE
I I I I

I I I
I I I I I I I

I I I I I I

ER( aN)

0% 10% 20% 30% 40% 50% 60% 70% 80% 90%  100%

- BEEFLEL « FEFLEN

11




